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Questions 1 to 40 carry 1 mark each. Questions 11 to 45 carry 2 marks each.
For each question, four options are given. One of them is the correct answer.
iiake your choice (1, 2, 3 or 4). Shade the oval {1, 2, 3 cv 4) on the Opticat
Answer Sheet (OAS).

[20 marks]

RS-

'ZdSOlm is the same as

(1) 2km6m
(2) 2km60m
(3} 20kmé6m
4 20km8Cm

2 What is the value of 32 +36 +4 147

(1) 58
(2) 55

(3 3
(4) 27

3 3015 =3 + 0.001 x

What is the missing number in the box?

(1 1
2) .5
(3) 15
(4) 150

4 _ Find the value of when k = 8.
() O
2 2
3 8
(4) 14

123



Which of the foliowing has oaly 1 line of symmetry?

It —% of 2 number is 50, what is %— of the number?

 (1)"\ 10

(2} 40
@) . 120

@) 360

Joel, Vincent and Nick shared somé stickers in the ratio 3:4:1.
What percentage of {he stickers did Jeel recsive? ;

(1) 12.5%
@ 25%
(3} 37.5%
(&) 50%

Jimmy takes 9 minutes to cycle from his home to his school. if he walks
to school, he will fake 24 minutes. How long will-he {ake if hie cycles

E of the diétance and walks the rest of the distance from his home to

his school?

{1} 14 min
(2y 19 min
(3) 22 min

(4) 33 min - B &




Ahmad has thrice as much fnoney as Devi. If Ahmad gives Devi $45,
he will have the same amount of money as Devi. How much money
does Ahmad have?

(1) $45
(2)  $90
(3) $135
@) $180

The graph below shows the number of cars sold in a town over 4 days.

MNumber of cars
500 -

450

400

350

300

250

200 -

150 +

100 -

50

Days

What is the average number of cars sold over the four days? -

(1) 300 |
(2) 325 . : L e
(3) 1200 | ‘ -

(4) 1300



11

12

13

Deborah went shdppiﬂg with  sum of money. She spent 0.4 ofiton a

pair of shoes and iAoﬁ the remainder on a drink. if she had $26.00 left,
. -5 , :
how much did.the pair of shoes cost?

1) 3$5.20
(2) $20.80
(3)  $24.00

4 $52.00

The ﬁ.gure, not drawn fo scale, shows a quadrarit and a triangle
enciosed in a rectangle. Find the area of the unshaded paris.
(Take z=3.14) '

wcm

1) 96.5cm?

@) 141cm?

(3) 1535cm?

@) 250 cn?®

In the figure below, not drawn tc scale, ABCD is a rhombus. BD, EF
and FG are straight fines and"BD /A FG. ZBAE =7102° and ZAEF =

113%. Find ZEFG.

G
(1 39
(2) 74°
(3) 78

(4 106"

126




14

15

512 marbles are arranged to form a square. There is an equal number

“of marbles on each side of the square. How many marbles are there on

each side of the square?

(1) 126
@) 127
(3) 128
(4) 129

The ratio of the length to the breadth of a rectangle is 5:3.The
rectangle has an area of 240 cm?. What is the length of the rectangie?

(1) 12cm .
(2) 20cm
(3) 48cm

(4) 's0cm °

2T
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Questions 18 fo 25 carry 1 mark each. Write your answers.in the spaces

provided. For questions which require units, give your answers in the units '

stated.
110 marks]
16 *  Express 10.05 as afraction in ifs simpiest form.
Ans: _
. 2
17 Find the value of 3 + 4,
Give your answer in its simplest form.
Ans: )
18 Express 168 minutes in hours-anid minutes.
Ans:. . A . min




i9 Jay has a mass of 34.7 kg. He is half as heavy as Sam.

\What.is Sam’s mass?

o Aﬁs:j; ka

20 The table below shows thre number of Fokemon cards collected by a

group of boys. What is the total number of cards collected by ali the

baoys?
Number of cards each Nu;nber of boys
" 'boy collected
36 | 3
50 1

Ans:__

21 . Ken used a piece ofwire.io bend into the figure éh'dwn below. It is
made up of 1 square and {1 equilateral {riangle. Find the area of the

square if the wire is 42 cm long.

Ans; ‘ . cm?

‘ ; | 130




22 - Janet takes 12 seconds tocut & rod into'4 equal parts. At this rate, how
long will she take if she cuis itinto 8 eaual parts?

Ans: . . ' S

23  The figure, not drawn to scale, shows an isosceles triangle. AB = AC
and /BAC =54". Find ZACB.

Ans: .

24  MrTan takes 20 min to drive from his house fo his office every day.
. {f his-average Speed is-84 km[h what is the distance between his office :

and his house? -

Ans:. -~ km

13\




25 Study the map below carefully. Mrs Lee is standing in the cenfre and
facing the school. When she turns 225° anti-clockwise, where wiil she
be fasing? '

Church

Playground . Cafe.

Library Market

Hawker Centre

Park

School

Ans: |

l : ' vLL
4




Questions 26 to 35 cary 2 marks each. Show your warking clearly in the
space below each question anag write your answers. in the spaces provided.
For questions which require units, give your answers in the units stated.

[20 marks]

26 Box A confains % as many sweets as Box B. If there is a total of 288

sweets in the two boxes, how many sweels are there in Box A?

Ans:-gr A

97 A rectangular tank measures 20 cm by 12 cm by 15 cm. If water is
flowing from a tap into the tank at a rate of 800 cm® per min, how long
does it take to fill the tank completely?

Ans:, min

i0



28 Putallthe digits 3, 4, 5, 6, 7, 8 and 9 into the circles below, sa that the
sum of the numbers along each side of the diagram adds up to 17.
(Each number can oniy be used once)

29 In the figure below, not drawn to scale, PQ, QR and PS are straight
fines. PS and QR meet'at Point O.

R

>

a) Name an angle that has the same size as /m.

Ans: Z

D) Measure and write down £/ PQR.

Ans: e




30 - -Apples are sold-in packs of 4 far $2. 25 What is the maximum number
of apples I can buy withy $107 -

Ans: |

31 A rolt of sibbon is cut info 3 pieces in the ratio 2 : 1 : 3. If the difference
between the longest and shortest piece of ribbon is 1.4 m, how long is
the roll of ribbon?

Ans:: ' m

32  When Terence was 9 years ofd, his father was four times his age.
in how many years’ time would his father be twice his age?

Anst : years

335

12



33

The table below shows the parking rate at the car park of Beauty
Shopping Complex.

First hour , $1.80
Every additional half an hour orpart |  $0.80
thereof : '

How much did Mr Chong have to pay if he parkéd his car at the car
park from 1045 to 13307 | )

R Ansr$

Ali had & sum of money in his savings account. His mother gave him
another $38 and his savings increased by 20%. How much money had

. he in the end?

Ans: $




35 - Find the perimeter of the figure below.

o 220m .
T X - 12cm
_ . el
14 cm
&
Ykml
g2

T ANST

14

;ﬂ



For questions 36 fo 48, show your workmg ciearly in the space provided for
each guestion and write your answers in the spaces provided.
The number of marks available is shown in bracl\ets { [ atthe end of each

question or pari-question.
[50 marks]

. 36 There are 1928 red and green buﬁons in 2 box. The number of red
buttons is 246 fewer than the number of green buttons. How many
.green buttons are there?

Ans: 7 =]

37 Tank A, 42 cm by 30 cm by 16 ¢m, §§_\% fiifed with water.

Tank B, with a square base of side 20-cm, is empty. :
When alt the water in Tank A'is poured info Tank B, what is the water
fevelin Tank B? '

Ans: : [3j

58




38 . The pie chart below shows the sale of compact discs in a shop on a
Friday. '

Classical
Music

A
8

Pop Songs

a) What fraction of the compact discs sold waé pop songs?

‘b) If a total of 360 compact discs were sold on Friday, fiow many of these
discs were pop songs? '

Ans: (g} {2].

®.___ [1]

16

1‘5%



in the figure below, not drawn to scale, AD = DC, ZADE = 130° and

39
£ ACF = 155", ADC, BCF and BOE are straight lines. Find £ x.
A
F .
Ans:, N <
40 Andy has k stamg;s_ Muthu ‘has thiice as many stamps as Andy but

8 stamps fewer than James.

a) How many stamps do they have altogether?
(Express your answer in ferms 6 K).
“b) lf k=9, how many stamps do the three children have aitogether?

Ans! g_a); - [é]

(0) _ ]




41 Mervin bought some pens from a beokshop. He paid $11.20 for the -
pens. He then bought another 2 pens-and paid $2.50 for each of them.
The average cost of ail the pens was then $2.70. How many pens did
he buy at first?

Ans: 31

42 %of the marbles in a box are red. -g» of the remaining marbles are blue

and the rest.are yeliow. There are 280 more yellow marbies than b!ue_lﬂ,“

marbles. How many red marbles are there?

Ans: ; _ _ [4i

18



43

Figure 1 shows a bzgfeé{aﬁgu;é}"bi'eée of cloth. Its breadth is g«'its

length. its breadthis 24.5 cma. Mrs Lim cut 4 smalfer rectangular pieces
of cloth, each measuring 5.6 cm by 2 cm {from each comer of the big

piece of cloth.

a) What was the perimeter of the remaining piece of cloth?

b) #drs Lim amanged all the 4 smaller rectangular pieces of cloth so
that they overlapped one another as shown in figure 2. Find the
area of the figure. '

5.6cm :
Friéijre 1 | : Figure 2
Ans: (@ = 2
(b¥ ~ - 2]

o




44

Wir Tan sold golf balls in packs of five. The original seliing price of each

pack of golf balls was $20. He sold 60% of his golf balls at $20 per
pack and the rest at a discount of 30%. He collected $1056 from the
sale of all the goif balls. How many go¥f bails did he sell altogether?

Ans:i . 4}

i3

20



45)  The figure is made up of identical triangles.

1t Ia_',{er

2" layer

3" layer

L 4n layer

A\

a) Following this Ea-ﬂ_ém, how. many iriangles will there be in the
- 5™ fayer and 10" layer?

b) if each small triangle has a base of 3 cm and 2 perpendicular height

of 4.cm, find the area of all the triangles in the 30™ tayer. -

Ans: (a) 5™ layer {1}
10%tayer .~ [1]

7 3]

B

t.L(.-\(,




46)

The figure is made up of a square ABCD, two ideniical quadrants and

two identical semicircles. AE = DE = 14 cmi.

(a) Find the perimeter of the shaded part.
(b) Find the area of the shaded part.

2.
(l‘ake:r=3_i—)

{21

i3]

¥
D | c
Ans: (a}‘, N
i
(0],




47y AL 7.15 am., Mr Tan stared drving from Town P to Town Q at a
unitorm speed of 80 km/h. 30 minutes later, Mr {_ee started driving from
Town Q fo Town P. Mr Lee drove af a constant speed until he met
Mr Tan at 9.45 a.m. along the way. At this point, Mr Tan had travelied

; of the journey. Mr Lee decreased his speed by 10 km/h after driving

past Mr Tan, and he drove at tne new speed f for the remaining joumey
 What time did Mr Lee reach Town p?

“Ans: S )

[ B j7| b




48) -

The figure above is made up of two circles X and Y. O is the centre of
Circle X. Circle Y has a radius of 14 cm. The area of the shaded part D

is ;-‘of the asea of Circle Y. The ratic of Area A o Area Bis 1:2. The
ratio of Area D to Area C is 2 : 7.

(a) Find the area of the shaded part D.
(b) Find the ratio of Area A : Area B : Area C..
(¢) Find Area A.

P22
aki = __
(Take 7 = =)

Ans: (@) _. .’ ]
O - 6
B} | i
End Of Paper '
5

24
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31)4.2m

35)110cm

7
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=5
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S0x20 =400cm
5040 +400=12.6cm
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B)40u~>360
< '*23@-)36@ ¥ 21

g3
' k’% EK.

43)&)1&&%2@- SR 2
3u>24.5 %@fﬁ@m
73.5%2= i@?%ﬁm %;;v% :
5.6u4=22. 4ca; V) A
. 147-224=1245
24.5x2=49cm
2x4=8cm
 49-8=4icm | 47
£1+124.64+22.44 =

£3}5.6-2= 3 Gt
I%3.6=7.2cm:
7.2x3=21.6cm
7%5.6=11.2cmmz
21.6+11.2=32.8cm
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44)300

45)a)5+4=2 (8% )
1G+9=12 (i0™)
@}3&-&-2@ 59 ts‘aanjes

2 »

47)7.15 30=7R5dH <@
9.45-7.15->2h 30mnd L
b0k b

200=2= 1@@5\3‘_ 3 {gg:-:msaursispeed)

100-10=90km 1, _-J-de s change 5@0&&5)
2¢kmfh>1h 6

J.:ﬁﬁ
150k /h>60 ¥150=100min
90
=1 40min
45+1h 40min—>11.25a.m.
Page 3
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